PISA 2009 — Leysgivnar uppgavur

Nidanfyri eru nakrar leysgivnar uppgavur frd PISA 2009. Talan er um PISA uppgavur i
enskari utgavu umframt somu uppgavur umsettar til fgroyskt.

[ enska tilfarinum er nerri greitt fra, hvussu uppgavurnar eru skipadar og hvussu
uppgavusvarini verda demd i mun til PISA-stigan.

Tad ber til hja lesaranum at samanbera ensku upprunatekstirnar vid feroysku umsetingarnar.
Ensku tekstirnir eru tiknir beinleidis ar ”PISA 2009 Results: What Students Know and Can
Do, Student Performance in Reading, Mathematics and Science, Volume 17, OECD 2010.

Tekstirnir i fgroyskari umseting eru tiknir beinleidis Gr ymiskum testheftum, og ti hava
spurningarnir eitt tilvisingartal, id er beinleidis knytt at einstaka testheftinum.

| OECD-hgpi verdur altid arbeitt baedi vid enskum og fronskum sum grundmal, og ti eru allir
PISA tekstir baedi & enskum og fronskum. Til ber at siggja leysgivnu ensku og fronsku
upprunatekstirnar umframt annad tilfar um PISA &:
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I A PROFILE OF STUDENT PERFORMANCE IN READING

® Figure .2 40 =
BRUSHING YOUR TEETH

Do our teeth become cleaner and cleaner the longer and harder we brush them?

British researchers say no. They have actually tried out many different alternatives, and ended up with the
perfect way to brush your teeth. A two minute brush, without brushing too hard, gives the best result. If
you brush hard, you harm your tooth enamel and your gums without loosening food remnants or plaque.

Bente Hansen, an expert on tooth brushing, says that it is a good idea to hold the toothbrush the way you
hold a pen. “Start in one corner and brush your way 2long the whole row,” she says. “Don’t forget your
tongue either! It can actually contain loads of bacteria that may cause bad breath.”
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J_{__,—ii_q_____h

“Brushing your Teeth” is an article from a Morwegian magazine.

I & wp Lo Lo 1 R o -
Lisa "Brushing Your Teeth” above to answer the questions that follow.

BRUSHING YOUR TEETH - QUESTION T B —
Situation: Fdwcational E26 ::—
Text format: Continuous 53
Text type: Expasition 480
Aspect: Integrate and interpret — Form 2 broad understanding ]
Question format: Multiple choice :----------.‘.* .
Difficulty: 353 (1a) 1
263
Eabzras Lavl 18

What is this grticle 3bout?

-

. The best way to brush your testh

==l

The best kind of toothbrush to use.

. The importance of-go:nq taeth.

2 M

. The way diffarent people brush their testh.

Scoring

Full Credit: The best way to brush your teeth.

Comment

This task requires the reader to recognise the main idea of a short descriptive text. The text is not anly shart, but
about the very familiar, everyday topic of brushing one’s teeth. The language is quite idiomatic (“loads of bacteria®,
“bad breath”), and the text is composed of short paragraphs and familiar syntactic structures, with a straightforward
heading and a supparting illustration. All of these features cambine ta make the text very approachable.

The difficuity of this question is located towards bottom of Level 1a, among the easier PISA reading questions. The
question stem is rather apen and broad, directing the reader to look for a broad generalisation as an answer. The
waords of the key (“The best way to brush your teeth”) include a term that is part of the title (*brush(ing] your teeth”),
and if - drawing an knowledge about the comventional structures and features of texts — there is an expectation that
a title is likely to summarise a text, the reader need go no further than the title to find the key. Should canfirmation
be sought, the first three sentences of the body of the text also encapsulate the main idea, and it is repeated by
illustration and elabaration in what little remains of this short piece. Thus the required information is both prominent
and repeated in a short and simple text: all markers of relatively easy reading tasks.
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BRUSHING YOUR TEETH - QQUESTION 2

Sltuatione Sducatioral

Text format: Cantinuous

Tewd bypeer Exposithan

Agpect: Acoos and e - Retncvn infrrmation
Question format: fuitipde chaica

Difflculty: 3328 1a)

IWhat do the Bribish researchers racommend?

A. That you brush your teeth 35 often 3s possible

B. That yout de ot fry £ brush your tangue.

. That you do nat brush vour testh tos kard,

D. That you brush your fongue more often than your testh.

Scoring
Full Credit: C. That you do not brush yvour testh toeo hard,

Camment

Another gueshion located af Leve! Ta, this fask redquines neaders to refrieve a specific plece of informmation from he
text rather than recognise a broad generalisation jas in the previous fagk) the question is thersfore clagsified ag
arceds and retrieve by agpect. The lask explicitly direchs the reader fo e second paragraph with the literal match
te “British ressarchess . It nevertheleds reguires some syntheds and some inference, fo understand that the Britich
researchers referred fo af the beginming of paragraph 2 are those giving he advice Mroughouw! the paragrapl, and
that *gives the best resulta® is symonpmmous with "recommend”. Performance on this ask showed that the disteactor
prowiding most compedition o the key is the first one, *That you brush your lesth a3 offen a3 possible”, presumably
becauge it draws an 3 plavgible miscanceptian based on prior knowleage.

BRUSHIMG YOUR TEETH - (JLESTION 3 o #
L] I

Sleuatione Sducational “: Lasald

Text formal: Continuous .

Text bypees Exposition :

Agpect: Apness and seineve - Aetniewe lnfrmation —

Question formal: Shaet regponsas H

Difflculty: 225 14 I .

Why sheald yoau brush your tangue, asentding o Bente Hanzen!

SmrIr_:E

Full Credit: Refers either to the baceria OR getiing rid of bad bragih, OR poth. Response may paraphrase or guobe
directly from the text.

Tor get rid of bacteria.
Your tongue can contain bacteria.

Bacteria.

Because you can avoid bad breath.
Bad breath,

To rermove bacteria and thereiore stop you from having bad breath. fhaothi
It can actually contain loads of bacteria that may cavse bad breath. [both]
Bacieria can cause bad breath.
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Cormmien]

The wording of e question provides o terms that can be wied iiterally to fing the relevant section of the text:
“Hente Hansen™ and *“fongue”. Moreover the ferm “Berte Hansen™ oocurs in @ prominent pasition o he very
beginning of the lasf paragraph. In the same paragraph the ferm “fongue” oocurs, giving an even move precise ciue
for locating the exact place in which e required information /s fo be found. Each of these lerms oocurs only once
it the text, 50 the reader does not need to deal with any competing information when maiching the question fo Hhe
relevant part of fhe fext.

With a difficulty located in the lowest described fevel, Level 1h, this i3 one of the easiest quesiions in the PISA 2009
reading assessment. i does neveriheless requine 2 low level of inference, since the reader hag fo undersfand thar
i in e lagt sentence refers fo "your longue”, A furher element fial might be expected fo condribute fo dificully
i3 that the focus of the question i relatively absteact: the reader i3 asked b identily a cauge Whp'L Mitigating
this potential difficuity, however, &5 the fact thal the word “cause® is explicitly used in the text (“that may cavse bad
breath®), providing a clear poinfer fo the required answer, 50 long a5 the reader infers the semantic relafionship
between “why® and “cause”. It is worth noting that tasks at ihis lowest described fevel of PISA reading stil derand
somie reading skill beyond mene decoding. It follows that students described as pevforming af Level Th have
demonsirated that they can nead with 2 degree of understanding. in @ manner consistent with the PISA definition

of reading.

BRUSHING YOUR TEETH - (JLESTIOIN & | —
Ll &

Sltvatiore Educatisnal “‘

Texd format Continuous o I—

Texl byper Exposithon iy

Aspect Aedlect and evaluaie - Refect on and evalivaie the form ofa faxt T

Queslion formal: Sduitipde chalce | i

Difficulty: 397 (Lova! 1a) s
bl Lae

Why i 3 pen mentianad ih the text!

A. e halp you understand hew o hald 3 toethbrush.

B. Because you start in one eormer with both 3 pen and a foothbrush.
. Too sheaw #hat you ean brush your feeth In many differsnt ways.

D. Beezuse yau shauld take taeth brushing as seHously as wrting.

Scoring
Full Credit: A. To help you understand how to hold a toothbrush.

Cormmen!

The last of the fasks in thiz unit i located nesr the fop of Level 1a in difficulty. Its aspect i reflect and evaluate
because if requines standing back frovm the fext and comidering the intention of one part of it Althaugh thig is a
relatively abstract task in comparisan with othess in this ol the warding of both the question stem and the key
gives substantial support. The reference fo “pen® in ihe slem divects the reader io the third paragraph. The wording
of the key has a direct match with the wording in the relevant part of the fext: “how io hold 2 foothbrush™ and *hold
the tecthbrush the way ..~ redpectively. The Bk fequires the reader fo recognises an analogy. but the analogical
Hrinking &, again, explicitly there it the text: “hold the foothbrush the way you hold 2 pan®.

The farmiliar content and the brevity of the text el fo explain why this question is relatively eagy, while its somewhat
almfrect focus acoounis for the fact that i i3 the mos! dificull of the unil
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BUSTA TENN

Verda tenninar reinari og reinari, tess longri og hardari vit busta taer?

Nei, siga bretskir granskarar. Eftir at hava roynt fleiri ymsar meguleikar, eru teir
komnir fram til besta hattin at busta tenn. At busta tenninar | tveir minuttir, uttan at
busta ov hardliga, gevur besta urslitid. Bustar tu ov hardliga, skadar tu tannemaljuna
og tannkjetid, uttan at reinsa matleivdir ella tannskén burtur.

Bente Hansen, serfredingur | tannbusting, meelir til at halda & eini tannbust eins og &
einum penni. "Byrja i einum kréki og busta sidan runt allan tanngardin,” sigur hon.
“Gloym heldur ikki tunguna! Hon kann i roynd og veru innihalda négvar bakteriur,
sum kunnu geva teer ringan anda.”

“At busta tenn” er bladgrein, sum stéd [ norskum tidarriti.

Nyt "At busta tenn” omanfyri at svara spurningunum nidanfyri.

Spurningur 37: BUSTA TENN R403Q01
Hvat snyr bladgreinin seg um?

A Hvussu tu bustar tenn a besta hatt.

B Hverjar tannbustir eru taer bestu at brika.
C Tydningin av at hava gédar tenn.

D A hvenn hatt ymisk félk busta tenn.
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Spurningur 38: BUSTA TENN R403Q02

Hvat rada bretsku granskararnir félki at gera?

At busta tenn so ofta, sum til ber.

At tU ikki skalt royna at busta tunguna.

At t0 ikki skalt busta tenninar ov hardliga.

At ti skalt busta tunguna oftari, enn t0 bustar tenninar.

oO0Owr

Spurningur 39: BUSTA TENN R403Q03-0 1 9

Sambeert Bente Hansen, hvi skalt tu eisini busta tunguna?

Spurningur 40: BUSTA TENN R403Q04
Hvi er ein pennur nevndur | tekstinum?

Fyri at hjalpa teer at skilja, hvussu ti skalt halda & tannbustini.
Ti th byrjar [ einum kroki, baedi vid penni og tannbust.

Fyri at visa, at tU kanst busta tenn & négvar ymiskar hasttir.
Ti at busta tenn er eins tydningarmikid sum at skriva.
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® Figure |.2.47 =

MOBILE PHOMNE SAFETY

Koy Dot

# Condlicting maparis
abaur tho hoairh nigés
of mahile phones
agpearcd in the late
1550

# Millions af pounds
have mow hoan
imaasied dn cohontific
resaarch o dmveshigaie
the eifeck af mobll
Phanes.

Are mobile ihnne-l dnnﬁﬂ

1. Radlo wases ghven off by mohile phones.
can haat up bady tseus, havirg damaging

Radio waves are not poreriul enough o
cause heat damage 1o the bady.

2. Magnetic fields created by mablle phones
can :ﬂndlhmﬂm‘ﬁr P
by cails wenric

The magnesic flelds aee Increcibdy waak,
and so unllkely fo afect calls In our body.

3. Feaple who make lorg mobile phare calls
sometimes complain of failgue, headaches,
and low of concentration.

These effects have never bean cheerved
undar condilans and may he
due 1o othaer facior In modern |Heshyles.

4. Mobile phane users ane 2.5 flmes more
| aly 1o cancer In ameas of the
bezin adjacent ta their phone ears.

Researcher admi s wnclear thls
Increase I lirked 1o wsing mablle phones.

5. Tha Infernational Agency for Research an
Cancer found a link between childhood
cancer and pawer lines. Lo mablle
phanes, power lInes alsn emit szdiation.

The radlation prodused by power lines 1
a differerd kind of adiatian, with mady
more energy than that coming from
muobille phones.

EB. Radin frequency waves similar & thosa In

Waorme are ot humare, o thore ks no

arantee that our hraln colls will react In
Eame way.

mahlle phones. altered the gene exprescion
In nematode wanmrs

If you use a mobile phane ...
Do Daon't
Kkeep the calls shor. Dan't use your moblle phone when the
receptian Is wealk, as the phane neecs
mione paver 10 commaunicate with the
bizse chation, and &0 tha radl o-wave
emiszians are higher.

Ky painds

# Givan hhe imvmenss pumbars of
mahdle phane usevs, aven smad
achvoree @ffacrs an hoalh could bave
majar public health implications

v in 2000 tha Siewar enor Camy the moblle phone away Don't huy 2 moblle phane with a high
2 HR'-:E"I o) ﬂnﬁﬁkﬂm fram yaur body when = 15 on =GAR" valug'. This maans that
hoaith problems caveed By mobilo standby. & emits mose radiation
phanas, but ackizod caulion, Buy a mohlle phone with 2 lang Dan'’t huy protectie gadgets unlecc
wpectally amang the young, umll “talk time” 't s movn eicent, |ty have bisn mdemendently tessd.

mare research was camied ot A

furter repovt i 2004 Backed this up. 2l e e ool syl

1. GAR (Epeific alsofpion i i6 @ maasuneant o Row moch eleciremagned c mdiation & asorkad by body tisua whils wing a
mahils phons.

“inhile Phane Safefy™ on fhe previous o pages is ffom a website,

) . e
L= “pohils Phons Sa%t" 20 3niwer the dusstions #hat Sllow

MOBILE PHOME SAFETY - QQUESTION 2

Slhsation: Pubiic
Text formal: Man.continuous

Text type: Sxpasition
Aspect: Mniggrate and intemeat - Farm @ broad undentanding

Question farmat: Muiale choloe
Diiflculty: 5T (Lovel 4

Wihat is the purpess of the Kay painks!

A_To deseribe the dangers :Fus.'ng mabile phanes.

B. Tev sugqest that dabate about mobils phone @fety s ongaing.
(. Tar daseribe the preeauticns that peaple whe use mobile phones shauld take.
[ Ter suggast that thewe ane he khown haalth prablatms csaused by mabile phanes.
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Fcoring
Full Credit: To suggest that desate about maobile phone safety is ongaing.

Commern

Clzssified 25 a form & broad understanding task within the integrate andg inferpret aspect, W fask focuses on
dedecting a theme frorn the repelifion of 8 parkicular category of information, in ihis case the "Key Poinks®, 2 series of
four boxed snippe ranged down the left hand side of the bvo-page text. Tasks addressing the broad undestanding
category are hpically fidy easy, as they tend to focus an repeated and often prominent fdeas in 2 kext. However,
several features of this lext and task conspive to make If comparatively difficall, af Level 4. The four short Key Foints
fell thedr crwent shony: they ave relzated ko buf do nol surmmarise the infarmation (o the body of the bao main tables, 0
the reacler nesds o focus on what appeans 25 2 perpheral padt of the text sirrctie. Mareover, while all of the boxes
have the caption “Key Foinis” the contenf i3 diverse in ferms of fext fype. making the task of summary move difficedt.
The first hao Key Polnts give a brief history of the controversy sbout mabile phones, the thira makes a conditional
proposition, and the fourth reports an equivocal finding. The fact that ambiguity, uncertainty and cpposing ideas
are the confent of the Key Points 3 likely, of iself, to make the fask move diffficull. Here, identifiring the “purpose™
fwirich im this comtext i3 equivalent to the mials therme) meand estabiishing a hersrchy among ldeas presented in the
Key Points, and choosing the ane that /s mosf general and overarching. Options A and O represent different details of
the Key Foints, bt not & single idea that could be described 25 overarching. Cption £ iifts a clause fout of context)
frovm the fourth Key Point. Only option B, selected by 45% of students from across fhe OECD countries, presents a
stfement that synihesises the heterogeneous elements of the Key Fainfs.

MOBILE PHOME SAFETY - (UESTION 17 m
Sltualione Auhlic — s F
B2

Text formal: Son-continuous

Tex! bypa: Exposithan b
Agpect Aoflect and evaluade - Rafect on and evaluaio the cantent of & fext axr
Cuestion format: fuinpde chadoe LG
Difficulty: 604 Leval 4 P

o sl 15
"It is difficult 4 prawe that ane thing has defintsly caused another”
What Is the ralationship of #his pisce of Information to the Polnt 4 Yes and No stiztemeants in the table Are
miblle phones dangeroust
A I suppods £ha ez argument But dees nat prene
B. It prowes the Yes argument.
C. It suppers the Mo argumant but dees net preve .
[ £ shevas that the Mo arjument S wiand.

s-:anEE

Full Credit: C. It supports the Mo argument but does not prove i,

Commen|

This fask requires the reader to recognise the relztianship befween 2 generalised siafement external fo the text and 2
pairolsixements in a tzble. it 3 classifled a3 reflect and evaluate in terms of 2spect because of this external relerence
point, This is the rrogf dificult task in the MOBILE PHONE SAFETY wnil, right on the border of Level 4 and Level 5.
The degree of difficulty is influenced by & number of fBctors. First, the stem statement uses abstract lerminalogy i
is aifficult to prove that one thing has definifely cawsed another®). Secondly = 2 relatively siraightioraard part of the
fask = the rezder needs fo wark oul which of the heo tables is relevant fo this task (the st onej and witich paint to
look at (Point 4). Thirdly, the reader needs fo assimilate the structure of the relfevant fzbie: namely, that it presents
oppasing stxlements in il bwo columng; 25 we have already noled, confrary ideas are intrinsically move aifficult to
desl with than complementary ansd Then, the reader needs lo aiscern preciely how the NO staterent challenges
the YES statement i 3 pacticular instance. Finally, logical relationship befween the YES and NO staterments in Poing
4 miust be marched, again at an abstracted level, with ane of the optians presented in the multiple-choice format of
the task. With all these challenges intrinsic bo the task, it is not surprising therefone that only a little over one-third of
students across OECD couniries gained creclf for ik
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MOBILE PHOME SAFETY - CQQLESTION &

Sltuation: Aublic
Texd format: Son-coninuous

Texd type: Expositian

Agpect Aofect and evaluate - Rafect on and mvaluate the content of @ fext
Queslion formal: Cpen constucind responss

Difflculty: 526 (Leval 3}

Lewok 2t Prlnt 3 i the Mo 2olumn of the table. 1n this contest, what miight o af theze ‘ather f2etors” be! Clie
2 reasan for your answes.

Scoring
Full Credit

ldentifies a facior in mpdern liiestles that pould be ralated in
explanation may be seli-evident, or explicitly stated. For example:
# Mot getting enough sleep. If vou dont, you will be tired.

* Being too busy. That makes you tired.

* Too much homework, that makes you tired AND gives you headaches.

# Noise = that gives vou a headache,

® Sireds.

Waorking late,

» Exams.

The warlel is just bos lod.

# Peaple don't take tirme o relax anymaone.

* People don't prioritise the things that matter, so they get grumpy and sick.
Comguiers,

Polbuticn.

Watching too much Th.

* [Drugs.

Microwave ovens,

# Too much emailing.

Cormmignl

Annther Bak i which the reader nesds fo reflect on and evaluate the confent of a fext, this fask calls on the abiline
fer Felate the text b knowiedge external to the text. Readers must give an example fom their own experience of 2
fzctor in madern (e, otfier then mobile phomes, that could explain Tetigue, headaches and lads of comosntnation ™.
Ag in the previous task, one step in completing this sk successfully i fo locate the relevant information using 2
nurmber reference (here, “Point 3%, The neaders subsequent sleps are less complex than in the previous Bk, since
anly the YES part of Aoint 3 need be faken inko account. in addifion, the external informakion that needs fo be deawn
an is divectly relafed fo pesonal experience, rather than fo an abileacted logical siatement.

A wide range of responses exm full credit for this task. Full credit (s given for producing 4 factor and prowviding an
explanation as o why His might cacse fatigue, headaches and loss of concentration. An example of this king of
redpanse i3 “Nof gemting enough sleep. I you dont. you will be fxtiguea® Full credit is alse given if it is consideved
that the explanation i@ implicit in the staterent of the facios in which case no explict explanation i3 reguired. An
example af this kind of response is *stress®. O the other hand, 2 response such as “lifestyle® is judged too vague,
without 2 supponting explanation or elaboration, and so is given no credit.

Tomands the top of Level 3, tis sk was successiully completed by fust over half of the students in OECD countries.
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MOBILE PHONE SAFETY - QUESTION 9

Sltuation: Aublic
Text format: Noo-cannnuous

Text type: Expositian

Aspect: infagrare and intevprot - Doveinn an Intenvetation
Question format: *uinpie chaico
Difficulty: 422 (Level 35

Look at the table with the heading If you use a moblie phane ...

Which of these 1deas &5 the &ble based onl

A. There is no danger invelved In using mabile phanes.

B. There |5 2 proven risk invelved in asing mabile phones.

C. There tmay or may not be danger Invalved In usihg mobile phones, but i is worth taking precautions.

D. Thers tnay or may hot ba danger Invaived In using mobile phanes, but they should not be used until we
know far sure.

E. The Do instructions are for those who take the thrast ssriously, and the Don't Instructions are for everyons slse.

Scoring
Full Credit: C. There may or may not be danger involved in using mobile phones, but it is woeth taking precautions.
Comment

in this task the reader is explicitly directed to look at the second fable, and 1o recognise its underlying assumption.
in facs, the assumption lsindicated in the Jast boxed Key Point: that in the absence of decisive evidence about the
danger of mobile phones, it is advisable fo take caution. The task asks readers to Infer the consequences of this
judgment, which can be done by checking that the table’s contents are consistent with the Key Point. Alternatively,
the reader can consult only the table and draw an independent conclusion from it. Option A is Incorrect since it
flatly contradicts the substance of the Key Foint, and is inconsistent with the import of a set of infunctions that neither
embargoes nor gives carte blanche 1o mobile phone use. Option 8 is rather more plausible, but the word “proven”®
makes it wrong in light of the information in the Key Point that no known health problems caused by mobile phones
were found in the two studies that were cited. Option C presents itself as thebest answeg consistent with both the
Key Foint and 2il the detail of the DO and DON'T columns. Option D can be dismissed as nothing more than the
heading of a table that reads: *If you use & mobile phone ...*, and option E sefs up 2 specious oppasition that has no
support in the text. Just under two-thirds of students selected the correc! response, making it the easiest of the four
tasks related to this challenging stimulus.
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FARTELEFONTRYGD

Eru fartelefonir vandamiklar?

Hevudspunkt

Osamsvarandi
fragreidingar um
heilsuvandarnar,
sum kunnu
standast av fartele-
fanum, komu fram
longu seinast |
1990-arunum.

Hevudspunkt

Nogvar millicnir
krénur eru seftar [
visindaliga
gransking fyri at
kanna arinini fra
fartelefonum.

B3-R3A-E Sida 32
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Um ta brakar fartelefon...

Hevudspunkt

Ta id hugsad verdur um
ometaliga stora talid av
falki, sum nytir fartelefon,
kunnu sjalvt sma hjaarin
& heilsuna faa alstorar
avieidingar fyri almennu
heilsusteduna.

Hevudspunkt

{ &r 2000 fann The
Stewart Report (ein
bretsk fragreiding) ongar
kendar heilsutrupulleikar,
sum stavadu fra
fartelefonum, men maslti
té til varsemi, serliga
milfum ungféik, til fleri
kanningar véru gjerdar.
Ein nyggj fragreiding.
sum vard gjerd | 2004,
stadfesti hetta..

' SAR (specific absorption rate) er mat fyri, hvussu nogv elektromagnetisk straling verdur upptikin av
vevnadi i kroppinum, mebdan tosad verdur i fartelefon.

B3-R3A-E Sida 33

12



Greinin “Fartelefontrygd” frammanfyri er tikin av einar heimasidu.

Nyt greinina “Fartelefontrygd” at svara spurningunum nidanfyri.

Spurningur 29: FARTELEFONTRYGD R414Q02

Hwvat er satlanin vid Hevudspunktunum?

A At lysa vandarnar vid at nyta fartelefon.

B  Atgera vart vid at ordaskiftid um fartelefontrygd heldur afram.

C  Atlysa tey fyrivarni, sum félk, id nyta fartelefon, eiga at taka.

D Atgera vart vid, at eingir kendir heilsutrupulleikar standast av at nyta fartelefon.

Spurningur 30: FARTELEFONTRYGD Re14Q11
“Torfert er at progva, at eitt fyribrigdi er beinleidis avgjerda orsakin til eitt annad fyribrigdi.”

Hwat samband hava upplysingarnar [ setninginum vid Punkt 4 {Ja- og Nei-Utsagnirnar) i
talvuni Eru fartelefonir vandamiklar?

A Teer studla undir JA-grundgevingina, men prégva hana ikki.

B  Teer progva Ja-grundgevingina.

C  Teer studla undir Nei-grundgevingina, men prégva hana ikki.

D Teervisa, at Nei-grundgevingin er skeiv.

Spurningur 31: FARTELEFONTRYGD R414Q06-0 1 9

Hygg at Punkt 3 | Nei-teigunum i talvuni. | hesum hepi, hvat kundi ein av “@8rum avirkanum”
verid? Grundgev fyri tinum svari.
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Spurningur 32: FARTELEFONTRYGD Ré14Q09
Hygg at talvuni vid yvirskriftini Um ta brakar fartelefon ...
Hverjar av hesum hugsanum byggir talvan a%

A Eingin vandi stendst av at nyta fartelefon.

B Vandin, id stendst av at nyta fartelefon, er progvadur.

C  Vandi stendst meguliga ella meguliga ikki av at nyta fartelefon, men tad er vert at taka
trygdarfyrivarni.

D Wandi stendst maguliga ella maguliga ikki av at nyta fartelefon, men hon eigur ikki at
vera brokt, fyrr enn vit vita hetta vid vissu.

E So skalt tu-leidbeiningarnar eru aetladar teimum, sum taka héttanirnar | alvara, og So
skalt ta ikki-leidbeiningarnar eru astladar allum hinum.
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® Figure |.2.42 =

BALLOON
e height record for hot air balloons on November 26, 2005.
000 metres above sea level.
Record height
21000 m
Oxygen
hot air for Size of only 4% of what Is avallable
descent. . conventional atground level
¥ 1 hat alr balloon
.—r—(
:l Earlier record
H Om 19800 m
A \ Temperature
-95¢C
The balloon
:;’k ‘ went out S ot i
o o § f towards the sea. umbo A
tofiation O\ A [ When it met the 10000 m
Spa AV 777 jet stream It was
: Ay taken back over
Size the land again.
453 000 nv? x ' =
{normal hot alr balloon 481 m) # New Delhi
Weight '
1800 kg ]
Gondola __/
Height: 2.7 m
Width: 1.3 m
Enclosed p cabin with insulat
windows
Aluminfum construction, like airplanes
Vijaypat Singhania wore a space suit
during the trip.
© MCTRs
Use “Balloon” on the previous page to answer the questions that follow

BALLOON - QUESTION 8

Situation: Educational
Text format: Non-continuous

Text type: Description

Aspect: Integrate and interpret - Form a broad understanding
Question format: Multiple choice

Difficulty: 370 (Level 1a)

What is the main idez of this text?

A. Singhania was in danger during his balloon trip.
B. Singhania set 3 new world record.

C. Singhania travelled over both sez and land.

D. Singhania’s balloon was enormous.
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Scoring

Full Credit: B. Singhania set a new world record.

Comment

The main idea of this non-continuous text is stated explicitly and prominently several times, including in the title,
“Height record for hot air balloon®. The prominence and repetition of the required information helps to explains its
easiness: it is located in the lower half of Level Ta.

Although the main idea is explicitly stated, the guestion is classified as integrate and interpret, with the sub-
classification forming a broad understanding, because it involves distinguishing the most significant and general
from subardinate infarmation in the text. The first option — “Singhania was in danger during his balloon trip” — is a
plausible speculation, but it is not supported by anything in the text, and so cannat qualify as a main idea. The third
aption — “3inghania travelled over both sea and land” - accurately paraphrases information from the text, but it is a
detail rather than the main idea. The fourth option — “Singhania‘’s balloon was enarmous” — refers to a conspicuous
graphic feature in the text but, again, it is subordinate to the main idea.

BALLOON - QUESTION 3 -
Situation: Educarional e, 2
Text format: Non-continuous i a3 fp——
Text type: Description ‘_ ______ = 0

. = 5 R I -
Aspect: Access and retrieve — Retrieve infarmation | 40 P
Question format: Shar response | 338 —
Difficulty: Full credlit 355 [Level 4); Partial credit 44% (Level 2)a - i 263

B v Larwal 1

Vijaypat 5i '}.-__;:'1:-')i-'- used ts::‘..“.c|::nglss found in two :n‘.he*".ypss cf-".r-:-')spcr*. Which types of-‘.r-';nspcri.r'
B e ieten e st sanm et e s b b R e b e b
Scoring
Full Credit: Refers to BOTH airplanes AND spacecraft (in either order, can include both answers on one line).
For example:

= 1. Aircraft

2. Spacecraft
* 1. Airplanes

2. Space ships
= 1. Air travel

2. Space travel
* 1. Flanes

2. Space rockets
s 1. Jets
2. Rockets

Partial Credit: Refers to EITHER airplanes OR spacecraft. For example:
= Spacecraft
* Space travel
* Space rockets
* Rockets
» Ajrcraft
+ Airplanes
s Ajr travel
* |ets

99
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Comment

In this task full credit is given for responses that lists the two required types of transport, and partial credit is given
to respanses that listed one type. The scoring rules reproduced above demaonstrate that credit is available for several
different paraphrases of the terms “airplanes” and “spacecraft®.

The partial credit score is located in the upper half of Level 2 while the full credit score is located at Level 4, illustrating
the fact that access and retrieve questions can create a significant challenge. The difficulty of the task is particularly
influenced by a number of features of the text. The layout, with several different kinds of graphs and multiple captions,
is guite a comman type of non-continuous presentation often seen in magazines and modern textbooks, but because
it does not have a conventional ordered structure {unlike, for example, a table or graph), finding specific pieces of
discrete information is relatively inefficient. Captions {*Fabric”, “Record height”, and so on) give some support to the
reader in navigating the text, hut the information specific required for this task does not have a caption, so that readers
have to generate their own categorisation of the relevant information as they search. Having once found the required
infarmation, inconspicuously located at the battom left-hand carner of the diagram, the reader needs to recognise
that the "aluminium construction, like aimplanes” and the “space suit” are associated with categories of transport. In
order to obtain credit for this question, the response needs to refer to a form or forms of transport, rather than simply
transcribing an approximate section of text. Thus “space fravel” is credited, but “space suit” is not. A significant piece
af competing infarmation in the text constitutes a further difficulty: many students referred to a “jumba jet” in their
answer. Although “air travel” or “airplane” or “jet” is given credit, “jumbo jet” is deemed to refer specifically to the
image and caption on the right of the diagram. This answer is not given credit as the jumbo jet in the illustration is not
included in the material with reference to technology used for Singhania’s balloon.

BALLOOMN - QUESTION 4 I —

Lawsl 5
Situation: Educarianal £26 —
Text format: Nan-continuaus — C. g2

Text type: Description

Aspect: Reflect and evaluate — Reflect on and evaluare the canfent of a text
Question format: Jpen Constructed Response

Difficulty: 510 e B m e oo i

Bakw Laval 1b
Vb o o b - - f O T - ;
What is the purpose of induding 2 drawing of 3 jumbao jet in this text!

Scoring
Full Credit: Refers explicitly or implicitly to the height of the balloon OR to the record. May refer to comparison
between the jumba jet and the balloon.

= To show how high the balloon went.

= To emphasise the fact that the balloon went really, really high.

= To show how impressive his record really was — he went higher than jumba jets!

= As a point of reference regarding height.

= To show how impressive his record really was. [minimal]

Comment

The main idea of the text is to describe the height recard set by Vijaypat Singhania in his extraordinary balloon. The
diagram on the right-hand side of the graphic, which includes the jumbo jet, implicitly contributes to the “wow!"
factor of the text, showing just how impressive the height achieved by Singhania was by comparing it with what we
usually associate with grand height: a jumbo jet’s flight. In order to gain credit for this task, students must recognise
the persuasive intent of including the illustration of the jumbo jet. For this reason the task is classified as reflect
and evaluate, with the sub-category reflect on and evaluate the content of a text. At the upper end of Level 3, this
question is moderately difficult.
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BALLOON - QUESTION 6

Situation: Educatianal
Text format: Nan-cantinuaus
Text type: Description

Aspect: Reflact and evaluate - Reflect on and evaluate the confent of a text

Question format: Multiple choice
Diificulty: 477 (Level 2

—-f-n...,__\

. Sieaf
i 1 mmventional
1-;_; |" hatair balloon
b 1 Height | —

L) % T ¥
q

pL
A
o
B. To compare the size of §i
=
C
D. To show that Singha
Scoring

Full Credit: B. To compare the size of Singhania’s balloon with that of other hot air balloons.

Comment

It is impartant for readers to be aware that texts are not randemly occurring artefacts, but are constructed deliberately
and with intent, and that part of the meaning of a text is found in the elements that authors choase to include. Like
the previous task, this task is classified under reflect and evaluate becauvse it asks about authorial intent. It focuses
on a graphic element — here the illustration of two balloons — and asks students to consider the purpose of this
inclusion. In the context af the over-arching idea of the text, to describe {and celebrate) Singhania’s flight, the
balloon illustration sends the message, “This is a really big balloon!®, just as the jumbo jet illustration sends the
message, “This is a really high flight!” The caption on the smaller balloon (“Size of a conventional hat air balloon ™}

";\':*13.-' does the drawi ng show two balloons?

hanig’s balloon w

. To compare the size cFSanh-‘;ni:—'s balloon before and after it was

s balloon almest collided

flated.

th that of other hot air balloons.

. To show that SZ':-gha':-ia's balloon looks small from the ground.

1 another balloon.

makes it obvious that this is a different balloon to Singhania’s, and therefore, for attentive readers, renders options A

and C implausible. Option D has no suppart in the text. With a difficulty near the bottom of Level 2, this is a rather

easy task.
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BALLON

2l hon ford inn HESI0m
yvir land aftur.
Uppblasing:
2,5 timar

Stedd: 453.000 m® (vanlig | |
heitluftsballon 481 m3)

Vekt: 1800 kg

Kurvin:
Hezedd: 2,7 m Breidd: 1.3 m

Innilokad trystkabina vid
bjalvadum vindeygum
Aluminiumskonstruktién sum i
flogferum

Vijaypat Singhania var i

rimdardrakt & tarinum. SucTRus
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Bruka "Balién” é siduni frammanfyri til at svara spumingunum nidanfyn.,

Spurningur 33: BALLON R417Q08
Hvat er havudstankin | hesum teksti?

Singhania var | vanda a ballonferdini.
Singhania setti nytt heimsmet.

Singhania ferdadist baadi yvir sjdgvi og landi.
Ballénin hja Singhania var émetaliga stor.

Spurningur 34: BALLON R417Q03-01 2 9

Vijaypat Singhania brukti tekni fra tveimum adrum flutningshattum. Hvarjum
flutningshattum?

Spurningur 35: BALLON R417Q04-0 1 9

Hvat er aatlanin vid at hava eina tekning av Jumbojetflogfari vid | tekstinum?

[
(=
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Spurningur 36: BALLON R417Q06

= s
Stecdin g
vanigan
g netng-

t Hmdd: baiién

‘-“ &m

Hvi eru tvaer ballénir & tekningini?

J

Fyri at bera saman steddina & ballénini hja Singhania, 48renn hon var blast upp,
og eftir at hon var vordin blast upp.

Fyri at bera saman steddina & ball6nini hja Singhania vid steddina & edrum
heitluftsballénum.

Fyri at visa, at ballénin hja Singhania seer litil Gt fra jerdini.

Fyri at visa, at ballénin hja Singhania naestan stoytti saman vid adra ballén.
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m
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B Figure 243 ®
BLOOD DONATION

Blood donation is essential.
There is no product that can fully substitute for human blood. Blood
donation is thus irreplaceable and essential to save lives.

In France, each year, 500,000 patients benefit from a blood transfusion.

Blood donation

It is the best=known kind of donation, and takes from 45 minutes to 1 hour.

A 450-ml bag is taken as well as some small samples on which tests and checks will be done.
— A man can give his blood five times a year, a woman three times.
— Donors can be from 18 to 65 years old.

An B-week interval is compulsory between each donation.

“Blood Donation Notice® on the previous page is from a French website.
Use "Blood Donation Notice” to answer the questions that follow.

BLOOD DONATION NOTICE — QUESTION &

Situation: Public

Text format: Continuous

Text type: Argumentation

Aspect: Infegrate and interpret — Develop an intarpratation

Question format: Open constructad respansa
Difficulty: 428 [Level 2}

Bl Lavaad 1k

An eightesn-year-old woman who has given her blood twice in the last twelve months wants to give bload
again. According to *Blood Denation Notice”, an what condition will she be 3llowed to give blood again?

Scoring
Full Credit: Identifies that gnough time must have elapsed since her last donation,

= Depends whether it has been 8 weeks since her last donation or not.

= She can if it has been long enough, otherwise she can't,

Comment

At a level of difficulty around the middle of Level 2, this task asks the reader to apply the information in the text
to a practical case. This is the kind of reading activity that is typically associated with such a text in everyday life,
and thus meets one of PISA’s aims in answering questions about how well young peaple at the end of compulsory
schaoling are equipped to meet the challenges of their future lives.

The reader must match the case described in the question stem with four pieces of information provided in the
second half of the text: the age and sex of the prospective donor, the number of times a person is allowed to give

’[02 |\E CECD 200 PISA 2009 RESLILTS: WHAT STUDENTS KNOW AND CAN DO =VOLUME |
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blood, and the interval required between donations. Reference to this last piece of information is needed in order
to meet the task’s requirement to stipulate the “condition” under which the young woman can give blood. As
evidenced in the two examples of full credit responses, students are given credit for either a specific answer that
includles reference to the interval of eight weeks between donations, ar for a more generalised answer, such as “She
can if it has been long enough, otherwise she can’t”.

BELOOD DOMNATION NOTICE - QUESTION 3

Situation: Pubilic

Text format: Continuous

Text type: Argumentation

Aspect: Reflact and evaluate - Reflect on and evaluate the content of a text
Question format: Multiple choice

DHEfIEltyt 388 L E § A me oo oo o 4

The text says: “The instruments for taking the blood are sterile and single-use ...
'L-’\'hy does the text include this information?

. To reassure you that blood donation is safe.

-

|

T emphasise that blood donation is essential
C. To explain the uses of your blood

L. To give details of the tests and checks

Scoring
QUESTION INTENT:
Reflect and evaluate: Reflect on and evaluate the content of a text,

Recognise the persuasive purpose of a phrase in an advertisement.

Full Credit: A. To reassure you that blood donation is safe.

Comment

To gain credit for this task, students must recognise the persuasive purpose of part of an advertisement. The task
is classified as reflect and evaluate because students need to consider the wider context of what appears to be a
simple statement of fact in order to recognise the underlying purpose for its inclusion.

The relative easiness of this task, which is located in the lower half of Level 1a, can he attributed to the brevity of
the text and also to the fact that it deals with an everyday topic. Another characteristic of relatively easy questions
exemplified here is that they typically draw on information that is consistent with common preconceptions: there
is nothing contrary to expectations in the notion that people are encouraged to donate blood and reassured that
donation involves no risk. Although the persuasive intent of this text is not stated explicitly in the words of the blood
donation natice, the idea that it is encouraging people to donate blood and reassuring them about the safety of
blood donation can be inferred from several statements. The text begins with “Blood donation is essential”, a nation
that is repeated and elaborated in the second paragraph {“irreplaceable and essential®). The text also refers to the
absence of risk immediately after the section of text in focus in this task, though the logical connection between the
two paragraphs — evidence: canclusion — must be inferred.
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UPPSLAG UM BLODGEVING

At lata bloé er av avgerandi tydningi.

. —§ Einki evni er framleitt, sum a fullgééan hatt

./ & kann nytast i stadin fyri mannabléé. Einki
)/ kann setast i stadin fyri bl66geving, og

bloégeving er livsneydug fyri at bjarga

mannalivum.

| Fraklandi faa 500.000 sjuklingar hvert ar

gagn av blo6flutningi (bléétranfusion).

Blédgeving:

Tad er best kendi matin at geva uppa (donera), og tad tekur
millum 45 minuttir og ein tima.

Ein 450-ml posi verdur fyltur, eins og nakrar smaar royndir verfa tiknar til
kanningar.

- Mannfélk kunnu lata bléd fimm fer6ir um ari6, konufélk triggjar ferdir.
- Bléégevar kunnu vera millum 18 og 65 ara gamlir.

| minsta lagi 8 vikur skulu ganga millum hverja bl6dgeving.

B21-R3B-E Sida 33
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“Uppslag um bilédgeving” & siduni frammanfyri er fra eini franskari heimasidu.

Bruka “Uppslag um biédgeving” til at svara spumingunum nidanfyri.

Spurningur 30: UPPSLAG UM BLODGEVING R429Q11

Hvat er hevudsendamalid vid tekstinum “Uppslag um blédgeving”

A At eggja folki til at lata blod.

B At lysa vandarnar vid at lata bldd.

C At greida fra, hvar tl kanst lata blod.

D At prégva, at nogv folk javnan lata blod.

Spurningur 31: UPPSLAG UM BLODGEVING Rez6Q08-0 1 8
18 ara gomul genta, sum hevur latid bléd tvaer ferdir teir sidstu 12 manadirnar, vil

aftur lata blod. Sambeert “Uppslag um blddgeving”, hvarjar eru so treytirnar fyri, at
hon sleppur at lata bléd aftur?

Spurningur 32: UPPSLAG UM BLODGEVING Re29008
Teksturin sigur: “Télini at taka bléd vid eru séttreinsad og eru einnytis...”

Hvi eru hesar upplysingar vid | tekstinum?

A Fyri at geva vissu fyri, at tad er vandaleyst at lata bléd.

B Fyri at leggja dent &, at bloédgeving er av avgerandi tydningi.

C  Fyri at greida fra, hvussu titt blod verdur nytt.
D Fyri at geva nezerri upplysingar um kanningarnar og eftirlitid.

Cad
'Y
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® Figure |.2.44 =
MISER

THE MISER AND HIS GOLD
A fable by Aesop

A miser sold all that he had and bought a lump of gold, which he buried in a hole in the ground by
the side of an old wall. He went to look at it daily. One of his workmen observed the miser's frequent
visits to the spot and decided to watch his movements. The warkman soon discovered the secret of the
hidden treasure, and digging down, came to the lump of gold, and stole it. The miser, on his next visit,
found the hole empty and began to tear his hair and to make loud lamentations. A neighbour, seeing
him overcome with grief and learning the cause, said, “Pray do not grieve so; but go and take a stone,
and place it in the hole, and fancy that the gold is still lying there. It will do you quite the same service;
for when the gold was there, you had it not, as you did not make the slightest use of it.”

Usa the fable “The Miser and his Gold” on the previous page to answer the questions that follow.

_ | [ Laval &
MISER - QUESTION 1 P
Situation: Persanal L .—
Text format: Continuous 553
Text type: Narration 480
Aspect: Integrate and interpret — Develop an inferpretation a7
Question format: Closad construcled respanse i""""a' P
Difficulty: 373 TLEVE! 121 Bremmme e e e I -

Balie Laval 1b

' 1 r r s P
1&3-\& the sentences JElC'p‘.' 3”:‘ numoer 'tl'."E'T"} JCCO rdi g to 'fl'.‘E FEJuUEnCS O events In the Text.

O The miser decided to turn all his money into 3 lump of gold
] A man stale the misers gold.
[ The miser dug 3 hole and hid his treasure in it

O The misers nei;:‘.b:n:*".ch" him to replace the geld with 3 stone

Scoring

Full Credit: All four correct: 1, 3, 2, 4 in that order.

Comment

Fables are a popular and respected text tvpe in many cultures and they are a favourite text tvpe in readling assessments
for similar reasons: they are shart, self-contained, morally instructive and have stood the test of time. While perhaps
nat the mast common reading material for young adults in OECD countries they are nevertheless likely to be
familiar from childhood, and the pithy, often acerbic abservations of a fable can pleasantly surprise even a blasé
15-year-old. MISER is typical of its genre: it captures and satirises a particular human weakness in a neat ecanomical
stary, executed in a single paragraph.

Since narrations are defined as referring to properties of objects in time, typically answering “when” questions, it is
appropriate to include a task based on a narrative text that asks for a series of statements about the story fo be put
inta the correct sequence. With such a shart text, and with statements in the task that are closely matched with the
terms af the story, this is an easy task, around the middle of Level 1a. On the ather hand, the language of the text is
rather formal and has some old-fashioned locutions. (Translators were asked to reproduce the fable-like style of the
source versions.) This characteristic of the text is [ikely to have added to the difficulty of the guestion.
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MISER — QUESTION 7 -
Situation: Personal =3

. finw 553
Text format: Continuous Lawal 3
Text type: Marration 480 —
Aspect: Access and refrieve — Betrieve infarmation 407,
Question format: Shart responsa o S
Difficulty: 370 fLevel 15 s P

o Larval 1h

How did the miser get 3 lump of gold?

Scoring

Full Credit: States that he sold everything he had. May paraphrase or quote directly from the text.
» He sold all he had.

» He sold all his stuff.

= He bought it. [implicit connection to selling everything he had)

Comment

This is one of the easiest tasks in PISA reading, with a difficulty in the middle of Level 1b. The reader is required to
access and retrieve a piece of explicitly stated information in the opening sentence of a very short text. To gain full
credit, the respaonse can either quate directly from the text — “He sold all that he had” — or provide a paraphrase
such as “He sold all his stuff”. The formal language of the text, which is likely to have added difficulty in other tasks
in the unit, is unlikely to have much impact here because the required information is located at the very beginning
of the text. Although this is an extremely easy question in PISAS frame of reference, it still requires a small degree
af inference, beyand the absalutely literal: the reader must infer that there is a causal connection between the first
proposition (that the miser sold all he had) and the second (that he bought gold).

MISER - QUESTION 5 -
Situation: Fersonal &3

- T 353
Text furmat.l Cﬂn:'m.mus ——— N
Text type: Narsation | L, m—
Aspect: Integrate and interpret — Develop an inferpretation | 407
Question format: Opean constructed respanss | P
Ditficulty: 542 Leved 4o o ! gy [—

Baleray Laval 1b

Here is part of 3 conversation between two pe::n_:|s whe read “The Miser and his Gald".

Speaker 2

105
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Scoring
Full Credit
Recognises that the message of the story depends on the_gold being replaced by something useless or waorthless.

It needed to be replaced by something worthless to make the point.

The stone is important in the story, because the whole point is he might as well have buried a stone for all the
good the gold did him.

If you replaced it with something better than a stone, it would miss the point because the thing buried needs to
be something really useless.

A stone is useless, but for the miser, so was the gold!

Something better would be something he could use — he didn't use the gold, that's what the guy was pointing out.

Because stones can be found anywhere. The gold and the stone are the same to the miser. {“can be found
anywhere® implies that the stone is of no special value|

Comment

This task takes the form of setting up a dialogue between two imaginary readers, to represent two conflicting
interpretations of the story. In fact only the second speaker’s position is consistent with the averall implication of the
text, so that in providing a supparting explanation readers demonstrate that they have understood the “punch line” -
the moral impart — of the fable. The reiative difficulty of the task, near the top of Level 3, is likely to be influenced by
the fact that readers needs to do a good deal of work to generate a full credit response. First they must make sense
of the neighbour’s speech in the story, which is expressed in a formal register. (As noted, transiators were asked to
reproduce the fable-like style.) Secondly, the relationship between the question stem and the required infarmation
is not obvious: there is little or no support in the stem (“What could Speaker 2 say to suppart his point of view?") to
guide the reader in interpreting the task, though the reference to the stone and the neighbour by the speakers should
point the reader to the end of the fable.

As shown in examples of responses, to gain full credit, students could express, in a variety of ways, the key idea that
wealth has no value unless it is used. Vague gestures at meaning, such as “the stone had a symbolic value®, are not
given credit.
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KARGAPISAN OG GULL HANSARA

Fapil eftir £sop

Ein kargapisa seldi alt, hann atti, og keypti ein gullklump, sum hann grov nidur | eitt
haol beint vid ein gamlan grotgard. Hvenn dag fér hann at hyggja at honum. Ein av
huskallum hansara gav saer far um mongu vitjanir hansara til stadid og gjerdi av at
eygleida hann allastadni, hann for. Huskallurin fann skjétt Ot av loyndarmalinum vid
krégvada dyrgripinum, og ta id hann fér at grava, kom hann fram & gullklumpin og
stjél hann. Ta id kargapisan vitjadi stadid naestu ferd, sa hann, at holid var témt, hann
roytti seq sjalvan og for at eymka seq hart. Ein granni, sum sa, hvussu sorgarbundin
hann var, og fraetti um orsekina, segdi, "Vaslsignadi madur, verdid ikki so
sorgarbundin; men farid og f8id tygum ein stein, leggid hann | holid og latid so sum
um, at gullid framvegis liggur har. Hann fer at tazna tygum eins vael; ti ta gullid 14 har,
ta hevdu tygum tad ikki, eins og tygum ei heldur fingu ta minstu nyttu burturdr ti."

Kargapisa: girigur persdnur

Brika fapilin “Kargapisan og gull hansara™ & siduni frammanfyri til at svara upp a
spurningarnar nidanfyri.

Spurningur 26: KARGAPISAN R433Q01-019

Les setningarnar nidanfyri og gev teimum nummar sambaert radfylgini | tekstinum.

Kargapisan gjardi av at byta alla pengarnar um vid ein gullklump.

Ein madur stjél gullid hja kargapisuni.

Kargapisan grév eitt hol og krogvadi dyrgripin i ti.

Grannin hja kargapisuni bad hann um at leggja ein stein [ stadin fyri gullid.
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Spurningur 27: KARGAPISAN R433Q07-0 19

Hvussu fekk kargapisan hendur & einum gullklumpi?

Spurningur 28: KARGAPISAN R433Q05-0 1 9

Her er eitt brot Or samradu millum tvey félk, sum hava lisid “Kargapisan og gull
hansara”.

Mei, tad
kundi hann

Hasin grannin
var dreinur.

1 Hann kundi ikki. Steinurin
i maelt til at lagt var
( ' okkurt fraagari tydningar- ﬁ|
A enn ein stein | mikil i '
| —— stadin fyri s@guni.
' ! qullia.

1. samradari 2. samradari

Hvat kundi 2. samradari sagt fyri at grundgivid fyri sinum sjénarmidi?

Spurningur 29: KARGAPISAN R433Q02
Hvat er hewvudsbodskapurin | hesi segu?

Goym ikki rikidemi, sum kann bliva stolid.

Tad er skeivt at lita &4 onnur folk.

Brukar tu ikki tad, tl eigur, so er tad tad sama, sum ikki at eiga tad.
Tl skalt ikki gremja teg um tad, sum t0 einki faert gjart vid.

jw v e i =
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A PROFILE OF STUDENT PERFORMANCE IN READING

® Figure|.2.45 =
THE PLAY'S THE THING
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Takes place in a castle by the beach in ltaly.

FIRST ACT

Ornate guest room in a very nice beachside
castle. Doors on the right and left. Sitting
room set in the middle of the stage: couch,
table, and two armchairs. Large windows at

the back. Starry night. It is dark on the stage.
When the curtain up we hear men
conversing loudly behind the door on the left.

The doar opens and three tuxedoed gentiemen
enter. One turns the light on immediately.
They walk to the centre in silence and stand
around the table. Thay sit down together, Gal
in the armchair to the left, Turai in the one on
the right, Addm on the couch in the middle.
Very long, almast awkward silence.
Comiortable stretches. Silence. Then:

GAL
Why are you so deep in thought?

TURAI

I'm thinking about how difficult it is to begin
a play. To introduce all the principal
characters in the beginning, when it all starts.

ADAM
1 suppose it must be hard.

TURAI

It is — devilishly hard. The play starts. The
audience goes quiet. The actors enter the stage
and the torment begins. It's an eternity,
sometimes as much as a quarter of an hour
before the audience finds out wha's who and
what they are all up to.

GAL
Quite a peculiar brain you've got. Can't you
forget your profession for 2 single minute?

TURAI
That cannot be dane.

GAL

Not half an hour passes without you
discussing theatre, actors, plays. There are
other things in this world.

TURAI
There aren’t. | am a dramatist. That is my
curse.

GAL
You shouldn’t become such a slave to
your profession.

TURAI

I you do not master it, you are its slave.
There is na middle ground. Trust me, it's
no joke starting 2 plaz well. It is one of the
toughest problems of stage mechanics.
Introducing your characters promptly.

Let’s look at this scene here, the three of
us. Three gentlemen in tuxedoes. Say they
enter nat this room in this lordly castle,
but rather a stage, just when a play begins.
They would have to chat about a whale lot
of uninterasting topics until it came out
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wha we are. Wouldn't it be much easier to
start all this by standing up and

introducing ourselves? Stands up. Good
evening. The three of us are guests in this
castle. We have just arrived from the
dining room where we had an excellent
dinner and drank two bottles of
champagne. My name is Sandor TURAI,
I'm a playwright, I've been writing plays for
thirty years, that's my profession. Full stop.
Your turn.

GAL

Stands up. My name is GAL, I'm also 2
playwright. | write plays as well, all of
them in the company of this gentleman
here. We are a famous playwright dua. All
playbills of good comedies and operettas
read: written by GAL and TURAL Naturally,
this is my profession as well.

GAL and TURAI
Together. And this young man ...

ADAM

Stands up. This young man is, if you allow
me, Albert ADAM, twenty-five years old,
composer. | wrote the music for these kind
gentlemen for their latest operetta. This is
my first work for the stage. These two
elderly an%els have discovered me and now,
with their help, I'd like to become famous.
They got me invited to this castle. They got
my dress-coat and tuxeda made. In other
words, | am poor and unknown, far now.
Other than that I'm an orphan and my
grandmother raised me. My grandmother has
passed away. | am all alane in this world. |
have no name, | have no maoney.

TURAI

But you are young.
GAL

And gifted.
ADAM

And 1zm in love with the soloist.

TURAI
You shouldn’t have added that. Everyone in
the audience would figure that out anyway.

They ail sit down.

TURAI
Now wouldn't this be the easiest way to start
aplay?

GAL

If we were allowed to do this, it would be
easy to write plays.

TURAI

Trust me, it's not that hard. just think of this
whale thingas ...

GAL

All right, all right, all right, just don't start

talking about the theatre again. I'm fed up
with it. We'll talk tomarrow, if you wish.

*The Play’s the Thing” is the beginning of a play by the Hungarian dramatist Ferenc Malndr.

Use ‘The Play’s the Thing” on the previous two pages to answer the questions that follow. (Nots that line numbsrs
ara given in the margin of the script to help you find parts that are referred to in the questions.)
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A PROFILE OF STUDENT FERFORMANCE IN READING

THE PLAY'S THE THING - (QUESTION 3 — = -

Situation: Fersanal | 2 =

Text format: Conrinwous i o —
Text type: Warration 20 —
Aspect: Intagrate and interprar - Develop an interpretation 07

Question format: Short response | 115 el
Difficulty: 730 Level §) s | 1o | E

el Ll 1k

What were the characters in the _Sld'_f :'ol.“.g just before the curtain went up?

Scoring

Full Credit: Refers to dinner or drinking champagne. May paraphrase or quote the text directly.

They have just had dinner and champagne.

“We have just arrived from the dining room where we had an excellent dinner.” [direct quatation|

“An excellent dinner and drank two bottles of champagne.” [direct quotation]

Dinner and drinks.

Dinner.

Drank champagne.
Had dinner and drank.

* They were in the dining room.

Comment

This task illustrates several features of the most difficult tasks in PISA reading. The text is long by PISA standards,
and it may be suppased that the fictional world depicted is remate from the experience of mast 13-year-olds. The
introduction to the unit tells students that the stimulus of THE PLAY'S THE THING is the beginning of a play by the
Hungarian dramatist Ferenc Molndr, but there is no other external orientation. The setting (“a castle by the beach in
ltaly”} is likely to be exotic to many, and the situation is only revealed gradually through the dialogue itself. While
individual pieces of vocabulary are not particularly difficult, and the tone is often chatty, the register of the language
is a little mannered. Perhaps most importantly a level of unfamiliarity is introduced by the abstract theme of the
discussion: a saphisticated conversation between characters about the relationship benween life and art, and the
challenges of writing for the theatre. The text is classified as narration because this theme is dealt with as part of the
play’s narrative.

While all the tasks in this unit acquire a layer of difficulty associated with the challenges of the text, the cognitive
demand of this task in particular is also attributable ta the high level of interpretation required to define the meaning
of the question’s terms, in relation to the text. The reader needs to be alert to the distinction between characters and
actors. The question refers to what the characters (not the actars) were doing “just before the curtain went up”. This is
patentially confusing since it requires recognition af a shift between the real world of a stage in a theatre, which has
a curtain, and the imaginary warld of Gal, Turai and Adam, who were in the dining room having dinner just before
they entered the guest roam (the stage setting). A question that assesses students” capacity to distinguish between
real and fictional worlds seems particularly apprapriate in relation to a text whaose theme is about just that, so that
the complexity of the question is aligned with the content of the text.

A further level of the task’s difficulty is introduced by the fact that the required information is in an unexpected
location. The question refers to the action “before the curtain went up®, which would typically lead one to search at
the opening of the scene, the beginning of the extract. On the contrary; the information is actually found about half-
way through the extract, when Turai reveals that he and his friends “have just arrived from the dining room”. While
the scoring for the question shows that several kinds of response are acceptable, to be given full credit readers must
demaonstrate that they have found this inconspicuous piece of information. The need to assimilate information that is
contrary 1o expectations — where the reader needs to give full attention to the text in defiance of preconceptions — is
highly characreristic of the mast demanding reading tasks in FISA.
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I A PROFILE OF STUDENT PERFORMANCE IN READING

THE PLAY'S THE THING - QUESTION 4 N Lo
Situation: Persanal . &
Text format: Continuous O Louaic
Text type: Narration o
Aspect: integrate and inferpref — Develap an interpretation =
Question format: Multiple choice | =
DHFRCUty: 474 [LEVEI 2} Bmeee e e ] 335
162
*It’s an eternity, sometimes 25 much as & quarter of an hour ... * (lines 29-30) S

According to Turai, why is 3 qu-:-r‘.Ero.fa:‘. hour “3n eternity”!
Alti

r £y -y i o s gl
B. It SEEMmS To T_',lﬂE forevier .‘:nr'.he situgtion to bE ClZ:'If'IEL\1 gt the

3 |:n."}c__: time to expect an audience to sit still ir 3 crowded theztre,

qinning of 3 ;|ay.
beginning of 3 play.
ngin g p|-:-}-'.

C. It always seems to take 3 long time for 3 dramatist to write

o
TIME MOVES SIOWY 'r\.'l'."Ef‘:' 33g nificant

D. It seems tha

Scoring

Full Credit: B. It seems to take forever for the situation to be clarified at the beginning of a play.

Comment

Near the borderline between Level 2 and Level 3, this question together with the previous one illustrates the fact
that questions cavering a wide range of difficulties can be based on a single text.

Unlike in the previous task, the stem of this task directs the reader ta the relevant section in the play, even quoting
the lines, thus relieving the reader of any challenge in figuring out where the necessary information is to be found.
Nevertheless, the reader needs to understand the context in which the line is uttered in order to respond successfully:
In fact, the implication of “It seems to take forever for the situation to be clarified at the beginning of a play”
underpins much of the rest of this extract, which enacts the solution of characters explicitly introducing themselves
at the beginning of a play instead of waiting for the action to reveal who they are. Insofar as the utterance that is
guoted in the stem prompts most of the rest of this extract, repetition and emphasis support the reader in integrating
and interpreting the quotation. In that respect toa, this task clearly differs from Question 3, in which the required
information is anly provided once, and is buried in an unexpected part of the text.

THE PLAY'S THE THING - QUESTION 7 . s —"
Laval 5

Situation: Persanal e sfa =

Text format: Continuous =1

Text type: Narration 420

Aspect: integrate and inferpref - Form & broad understanding wr

Question format: Multiple choice 135

Difiiculty: 356 Level 4) ) -
Balow Laval 1B

Overall, what is the dramatist Molndr doing in this extract?
A Heis ihcwing the way that each character will solve his own problems

w

He is making his characters demonstrate what an eternity in 3 play is like.

C. He is giving an examp|e ofa t}.-'}'.‘l':al and traditional opening scene forg p|:;\:,—'.
D

. He is using the characters o 3ot out ane of his own creative prcb.E'r‘.s.

Scoring

Full Credit: D. He is using the characters to act out one of his own creative problems,

Comment

In this task the reader is asked to take a global perspective, form a broad understanding by integrating and
interpreting the implications of the dialogue across the text. The task involves recagnising the conceptual theme af a
section of a play, where the theme is literary and abstract. This relatively unfamiliar territory for most 15-year-olds is
likely ta constitute the difficulty of the task, which is located at Level 4. A little under half of the students in OECD
countries gained full credit for this task, with the others divided fairly evenly across the three distractors.
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SJONLEIKURIN ER H@VUDSSAKIN

Sjdnleikurin fer fram d einum sloni vid eina
strond { ltalia.

FYRSTI PARTUR

Prytt gesiarim [ sera vekrum slotti nidri vid
sfovarmalan. Hurdar eru 0l hogru og vinstru.
Fin stova er sett upp mint d pallinum: sofa,
bord, og tveir lenistélar. Stor vindeygu
aftanfyvrl. Syornuwkldr ndi. Tad er myrkt d
pallinum. Td id tjaldid fer wpp, hovrast menn
tasa hart saman innan fyri hurdinag nl vinstru.
Hurdin fer upp og inn d pallin wrina triggir
mans [ smoking. Ein  teirra  tendrar
beinanvegin ljdsid. Teir ganga inn imditi
midjuni og stilla seg rundan wm bordid. Teir
sela seg nidur samstundis, Gal 1 lenistolin il
vinstru, Turai { tann til hegru, og Addm i
sofuna [ midjuni. Sera long, nestan pinlig
tagn. Teir remba seg, veel 1l passar. Togn. Og
so;

GAL
Hvi ert ti so hugsanarsamur?

TURAI

Eg siti og hugsi um, hvussu torfart tad er at
byrja ein sjonleik. At introdusera allar
hevudsleikararnar { byrjanini, td id alt byrjar.

ADAM

Eg kann imynda meer, at tad ma vera torfert.

TURAI
Tad er tad — forbidid torfort. Sjonleikurin
byrjar. Askodararnir tagna. Sjénleikararnir
koma inn & pallin, og pinslan bvrjar. Tad er
sum ein sevinleiki, onkuntid heilt upp { eitt
korter, ddrenn dskodararnir finna at av hver er
hver, og hvat tey ell etla.

GAL

Ti hevur ein lsgnan heila. Kanst t ikki
gloyma arbeidid hja taer bara eina litla lotu?

TURAI
Tad ber ikki til.
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GAL

Tad gongur ikki ein hdlvur timi, uttan at t
tosar um leiklist, sjonleikarar, sjénleikir.
Tad eru onnur ting til { verdini.

TURAI

Tad eru tad ikki. Er skrivi sjonleikir. Tad
er min vanlagna.

GAL

Tu ati ikki at verid so treelabundin at
tinum arbeidi.

TURAI

Um t0 ikki dugir tad til fulnar, so ert t
treelur av . Tad finst eingin millumvegur.
Tragv mar, tad er ikki bara sum at siga
tad, at byrja ein sjonleik veel. Tad er ein av
teimum  hardastu  avbjodingunum i
sambandi vid pallsetingina. Tad at
introdusera tinar persdnar beinanvegin.
Lat okkum hyggja at hesum pallinum her,
vit triggir. Triggir harrar { smoking. Lat
okkum siga, at teir ikki trina inn i hetta
riumid § hesum glaesiliga slottl, men inn 4
ein pall i stadin, just t4 8 sjénleikurin
byrjar. Teir hevdu verid noyddir til at
prita saman um eina rigvu av kediligum
evnum, inntil tad gjerdist areitt, hvarjir vit
eru. Hevdi tad ikki verid nogv lettari, at
byrja alt hetta vid at reisa okkum upp og
siga, hvarjir vit eru? Hann fer d forur. Gott
kvald. Vit triggir eru gestir 4 slottinum.
Vit eru just komnir inn her Gr spisistovuni,
har vit otu ein fralikan degurda og drukku
tveer flaskur av sjampanju. Eg eitl Sandor
Turai, eg eri leikritahgvundur. Eg havi
skrivad sjonleikir { 30 dr. Tad er mitt yrki.
Punktum. Tin tirur.

GAL
Hamin fer d fotur. Eg eiti Gél, eg eri eisini
leikritahevundur. Eg  skrivi  eisini
sjonleikir, allar saman vid  hesum
harranum her. Vit em ein kend

leikritahovundaduo. A ellum plakatum,
sum lysa vid gdadum skemtileikum og
operettum, stendur: Skrivad hava Gal og
Turai. Hetta er eisini mitt yrki sjalvandi.

B3-R3A-E
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GAL og TURAI
Saman. Og hesin ungi madurin. ..

ADAM

Hann fer d forur. Hesin ungi madurin er, um
tit loyva mer, Albert Adam, 25-dra gamal, og
tonaskald. Eg skrivadi toénleikin fyri hesar
harrarnar til teirra nvggjastu operettu. Hetta er
mitt fyrsta verk til leikpallin. Hesir badir
gomlu einglarnir hava uppdagad meg, og nu
vil eg gerast kendur, vid teirra hjalp. Teir séu
til, at eg vard bodin vid til hetta slottid. Teir
skipadu fyri, at eg fekk kleedning og smoking.
Vid sdrum aorbum, enn eri eg fatekur og
dkendur. Harafturat eri eg foreldralevsur, og
eg vaks upp hjd ommu mini. Omma min er
deyd. Eg eri pura einsamallur { verdini. Eg eri
okendur, eg havi ongar pengar.

TURAI

Men ti ert ungur.
GAL

Og gavurikur.

ADAM
Og eg eri forelskadur { solistinum.

TURAI
To  skuldi  ikki havt sagt hatta.  Allir

dskodararnir hevdu gitt tad kortini.

Teir seta seg, alliv triggir.

120

130

TURAI
Hevdi hetta ikki verid tann lattasti matin
at byrja ein leik?

GAL
Var okkum loyvt at gera soleidis, so hevdi
tad verid la=tt at skriva sjonleikir.

TURAI

Tragv mer, tad er ikki torfert. Tit skulu
bara siggja alt hetta sum um ...

GAL
Okey, okey, okey, bara t ikki byrjar at
tosa um leiklist aftur. Eg eri hamrandi
troyttur av ti. Vit fara at tosa um tad i
maorgin, um t vilt.
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"Sfénleikurin er havudssakin® er sjalv byrjanin | einum sjénleiki eftir ungarska
leikritahavundin Ferenc Molnér.

Brika “Sjonieikurin er hevudssakin®, sum stendur & bladsidunum frammanfyri, at svara
spurningunum nidanfyri. Gevid gaetur, at reglurnar eru talmerktar 4 breddanum |
handritinum; tad fer at hjdlpa tasr at finna tey brot, sum spurningarnir visa til.

Spurningur 25: SJONLEIKURIN ER HGVUDSSAKIN RAGGO3-0 1 3

Hvat gjerdu leikararnir, beint adrenn tjaldid fér upp?

Spurningur 26: SJONLEIKURIN ER HOVUDSSAKIN Ré52Q04

“Tad er sum ein aavinleiki, onkuntid heilt upp 1 eitt korter... " (reglurnar 33-35)
Sambeaart Turai, hvi er eitt korter sum “ein aavinleiki"?

A Tad er long tid hja dskodarunum at sita stillir | einum fullum sjonleikarhusi.

B Tad tykist sera leingi, a8renn umstadurnar i byrjanini av sjonleikinum gerast greidar.

C  Tad tykist, sum tad altid tekur langa tid hja leikritahevundi at skriva byrjanina av
sjonleikinum.

D Tad tykist, at tidin gongur sera spakuliga, ta id tydningarmikil hending fer fram [ einum
sjénleiki.
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Spurningur 27: SJONLEIKURIN ER HGVUDSSAKIN RaEIGHE -8 1 9

Ein lesari segdi, "Adam er helst tann av persénunum, sum er mest spentur upp4 at vera 4
slottinum.”

Hvat kundi lesarin sagt fyri at grundgeva fyri hesum sjonarmidi? Bruka tekstin til at
grundgeva fyri tinum svari.

Spurningur 28: SIONLEIKURIN ER HOVUDSSAKIN Ré52G07
Samanumtikid, hvat er tad, sum leikritahevundurin Molnér ger | hesum broti?

Hann visir &, & hvann hatt hver einstakur sjonleikari fer at loysa sinar egnu trupulleikar.
Hann faer sjonleikararnar at visa &, hvussu aevinleikin kennist i einum sjénleiki.

Hann gevur okkum eitt demi um eina vanliga og sidbundna byrjanarsenu i einum leiki.
Hann brikar sjonleikararnar til at visa & ein av hansara egnu trupulleikum |
skapanartilgongdini.

OO0 wWr
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